Math 21C
Kouba
An Example Using Force Vectors

Consider an object weighing 100 newtons which is suspended by two thin wires in the diagram below.
Determine each force vector and their magnitudes.




FT

'

(( [0/01\35 Tl

H

~(RICT, RICE))

—y =

= (TRl oo’ (a(ng

—— e

AR F+r (OIOO) M/?))(’W

i i '

‘ : | ;

H 1

; H

H

h | i H

i { i

: H i i

t H ! y
e g

= Oy
;3"1}921@

]
510
o100

2

S
5
T
E
N
O
0
1
0

—_—
v
-
—

: N
- XN

)
iy
i@
ﬁe
4
3
33,
B
}

=

ol

i

.(— @;}‘opz) mow {l 03@8 Nj



E=(FICE]IRICE)

2
s

hd 4

= (((03,(,2/ (- _‘}22\_} (163.68) ({:\}‘)y
oty E

g,

LA
L4

(=T33 —T7373)
\ ) 2 )

|

7]

/

= (15[ coe 20% [Fa| 2on 80°)

™ 6&7'87“0”@'CO‘:‘T%‘?‘?]"*/‘(7‘5770‘-:()“(@“?@9?

~ (7 3-325-26,62)




Math 21C
Kouba W E
An Example Using Vectors

S
Example : A jet airplane wants to fly in a straight lme from airport A directly East to airport B, which
is 1500 miles away. The jet faces a headwind from 10° North of East at 75 mph. If the jet flies ata
constant speed of 500 mph (relative to the surrounding air)

a.) in what direction should the jet fly ?
b.) what is the jet’s actual flying speed (relative to the ground) ?
c.) how long will the flight take ?
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